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Graph y = x?. Use a table of values.
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Conclusion: Given f(x) =ax’ +bx+c,where a#0.
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1. The parabola opens up when o> O . The y-coordinate of the vertex isa T+ (max or min).
2. The parabola opens down when O0_40 . The y-coordinate of the vertex is a _$00.%  (max or min). m

Without graphing, determine whether the parabola f (x) =-2(3x+5)(6 — x) opens up or down and whether the y-coord. of the

vertex is a maximum or a minimum. [Hint: what do you need to find?]
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Graph y =(x—3)" —5.The vertex i ~9). 2 LT 0 Lﬁ
raph y ( ) eve ex1s(6 \.;) u§;§évi§ AN A j; K
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State the transformations from the parent graph y = x. U = A== lo¥ » S T \ . é-s;
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The form y:(x—3) —5 is called the Vel %Ei _ form of a parabola ‘ﬁé}‘x < *;‘% Py § B> !
because you can easily identify the jeCg ¥ . Lé ' T “% / \ ’Qi I}
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A quadratic function, y = ax® + bx + ¢ with a # 0, can be written in N £ ff}i - %\
ertex form: ) v {
Y ~ 3*7"%"‘?‘&‘%%{“5““% ,
PN \ /
y=o (N HK verex (10, K) -
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Axis of symmetry: x= {1\
Graph each function. Describe how it was translated from f (x) =x2 Identify the axis of symmetry. N
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Identlfy the vertex, axis of symmetry, the maximum or minimum value, and the domam and the range of each functlon
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Write a quadratic function to model the graph.
v, N 4 f’;\ N - 1. Find the vertex
y &! % =2 XX 2. Plginto f(x)=a(x—h)+k
é 2. LS 3. Choose another point and plug in for x and y.
5 \ / Prramme (00T 4. Solvefor a .
4 DH. Cooste (6,11 5. Write your final equation in vertex form
¢ 2.2
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Standard Form of a Quadratic Equation: y = ax’ +bx+c

Shortcut to find the Vertex: How can you find the corresponding y-value of the vertex?
Equation for axis of symmetry: >( = ‘ g:} O 2N\e K - Noliue
é&& — =~ - N
:3%» X“‘—\’ £ 3 @éfﬁsﬁ = £ — ‘—5
x-value of vertex = — © O O\ ORSTR0L X ;?:"Q\
% O FUAY 5
" 2. DU ey
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Summary - Quadratic Formula in standard form Q; |
a,é i 3 H
e Thegraph f(x)=ax’ +bx+c,a#0isa D’Qg?&\iggw i
i
o Ifa> 0 the parabola opens _ | . If a < 0, the parabola opens iﬁx*js
s oy : { Ny
.y LreGUoA
e The axis of symmetry is the line x = ”“i; ~ Xy
=
b\ .
e The x coordinate of the vertex is = > . The y coordinate of the vertexis y = f (——é— . éﬁ”ﬁ%”“
N a
A

e The y-intercept is (O,C)
led%x=0O

Use the shortcut to write the equation for the axis of symmetry and find the coordinates of the vertex
—a) g(x)=x"—4x+1

K="2

b) f(x)=5x*-10x+4
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Write each function in vertex form.

Ly=x"-8x+19

e Identifyaandb. [} = \g

n=- 3 \ .
e Find the x-coordinate of the vertex. X= _ Zﬂ% Yo E = :ig
A0y &
e  Substitute your answer into the equation for x. Solve for y.
=42 -y 4\ Q e A L PR S ?ﬁ‘—?}
. Thevenex1s(§a§ EY! = =

Substitute 4, .k and ainto y = a(x—h)* +k .
(The a is the same in standard form and vertex form)
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2.y =x"-2x -6
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y= —%xz -3x+3 Steps: \j‘})

(-%,V32)
3 g y

Sketch:

1. Find the Vertex

2. Find the y-intercept

-l 'R &

3. Find the 3™ point on the graph (use notion of symmetry)




Date Notes 4.4 ; iﬁ_;s gy o

. ~4
Factoring Flow Chart
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I. Factor out the =75 e [ Always check for this first!
1. 27¢* -9¢ 2. 5x° +25x* —65x 3. 5zQ2z+1)-22z+1)
1 T ol VR futae s i {
VUL (R =y T O (x5 Sx=-113Y ( ~N\
§ (RORURS [ §§ é : = E %iQxZA-‘!\}é%Z"é\\E

II. Two Terms

CoveS
;; :'f P e N — ) »

Difference of Two Squares: a’ —b’° = g"! O k"g\g o-0 )

1. x° =25 2. 16x° —49 3. 8x° -18x 4. y'-81
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I1l. Three Terms \\ < vald ¥ g(‘ $i (the reverse of FOIL) A‘\%m

Sign Rules:
. \! . - Y. = \
- ¥ e Diaes ot Ve e YTl S Lo~ iﬁ‘hi’g&; A D *i;‘fi
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%“’}t@@fﬁ = e Yees B eeNne Se .

1. x> +12x+27 2. x*-15x-54 3. 2x* +10x-12
\ 7 N 2 S (N
wag\g\{ 2, ‘\ZE if\@\%xxaf?}\ Q(’x = X o)

7 s LN

SUT—

4. 5x* +14x+8 5. 6x° =1lx+3 \ 6. 8x* +27x-20
| ( x%%\(x*?«\\ [y -\\(2x - ) | ( Y )
Special Case Core S Swoon -

-3

2 / . - 2 _ N Ei
Perfect-Trinomiat Squares: a’=2ab+b* = ( Ci—-\b\ { o-o a,,{:‘&%\é = R- >0 %2?
2
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1. x> +10x+25 2. 16x° —40x +25 3. 36x> —60x+25 4. 3x* =36x+108
-2- FanY F=W1
(XN (4%-3) (bx-2)* 3 (33120 + 3o
S
3 (x-Le)

IV. Four Terms @TQ%F}A?\{A‘
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t. 3x" —6x"+4x-8 N. 10x* —15x° —2x+3
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’;f ~ RO N ™~ LY e |l NN
[
AN 2w\ ~
NEARTAET RSt EE i




Date:

Methods to Solving Quadratic Equations:

1. Zero Product Property ( ZP p \} 1S

2. Square Root Theorem “-Y, (,
3. Complete the Square y |,
4. Quadratic Formula .

£ 5
Notes 4.5 Q% e e n o e iﬂ-—%&é&%%\ oS ) Z%?

2

N Sex %g;g%;ﬁi}i\ =0

Zero Product Property: Ifa-b=0 = O = O o %;{j ;5; F@\»f; Nof™

Solve each equation by factoring and applying ZPP. Show all steps.
1. x*-16x=0
X{x-\6\=0O

X-\o=

X =0\

A root of an equation is a value that makes the equation true.

Use the Zero Product Property to write a quadratic équation with each pair of values as roots:

2. x2-14x+45=0

( 2=\ {(x-2)=0

{53 Ded eoe Focda =0

WY Bolve
3. 3x*+6x=-3

%22 bx+3=0

X-9:0 B =0
%W%izg gé)ﬁ%—\\@\%\\:@

1. Sand3 2. -4 and 4
y=5 x:=3 x=-4 x=4

(=N (-2 =D

(xa-N(x-) =0
)(2‘—-%;& e X% “E%’:@Q

X>T —2%-S%x W\SH=D
__Connection to Parabola:

e =0)

X =B M\ S =0
Graph g(x) =x"+2x-8.

Ve ex ( -\ - \
: \, 5
Now let g(x) = 0 and solve for x.

O= x2x2x=-F
O = (X +0{x=2Y

x=-2 _
PRAN

= =1

QEN = AV 26N -3

X==-% —
X=2d —> 3. |0
X\‘(\\@f_@?\\'i

gi@ x+\=0D Xx\=0
-\ e
= (=

V-4, 1)

What do these x-values correspond to on the graph?

Conclusion: The “zeros” of a quadratic function are the same as the _ X v O~ 3\- . “

Recall to find the y-intercept set K = O and to find the x-intercepts/zeros set \/ — D and use the ZPP
7

EX: f(x)=x"+7x—-60 Pl¢

U
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ek O= X 20\ (x-5) -0
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Word Problems Types:
1. Word problems that ask for the maximum or minimum. [Hint: find the \}&(‘3& X 1

2. Given a function A (t) that describes the height of an object
2) Find the max. height. [Hint: findthe Ve Y X ]
b) Find when it hits the ground. [Hint: set — O ]

1. Carlo plans to build a rectangular pen against an existing wall for his dog. He will buy 20 yards of fence material.
Find the width and length needed to produce the maximum area. [Hint: find the\Jes— % < ]

wall The vertex is (1O , 50 ). The max area occurs when x = 5 .
Then the width y= \D

Dimensions: D by 10O Max Area: 6—’3&% ads
A= xY

A %%«j}'%‘i = 2D 9
Qxa =20 | A = x(=2x »20)

% =\£>2 2D Z A = =AU x*>20x

S

\;G—T" \&x
X=-20 - ~o .5
2 -y
~
- — 2 & 3 o= = Ly S L o, ™, VN !
R = 2 v 20(D) = 200 11D = -DD oD = DO
2. A woman drops a front door key to her husband from their apartment window several stories about the ground.

The function h(t) = -16t 2 164 gives the height h of the key in feet, t seconds after she releases it. How long does it take for the key to
reach the ground?

0 ==\ k& oY e \z\{q\ oMW Teoe
O = =\l (£2-4) P qaande o Sree
O = =V F+2\ (-2 L Second s,

) =o \%:1}
+ <2
ﬁ)%\giiﬂi
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H Square Root Theorem: If x? = c,thenx = i\/z H ‘Ei.% ﬁ ;\": 2 E
o, Yoo Spaavel ! o
1. Solve: 2x” =18 2. Solve: 7x /23/ 103 +25 3. Solve: \94Q = ’5(x+5)2+7
B> =1L 199 = B(xxD\ -
5T 5 2
X*\B 03 = (x¥D

5"}@%‘3\ *

3
i
x= *Jan |x= 30| _

Find the unknown length in the right mangle Round to nearest 10%,

Pythagorean Theorem I ,__:_) %_% - % — __% - K

It AABC is a right triangle, B k si_.i Eopgn §
. is a right triangle c x ‘f% X E’s
a Y
0\2—\"\{)1:C‘2 3
A C \ﬂ: i\é%&!%

b 14 + ﬁ:%’z
Ao T NN

E’Z Vo = O s
| RSN et P e

90%

K= NR K (a o%jﬁpprcﬁ.

Review: Perfect Trinomial Squares fit a certain pattern. x~ +14x+49 = ( X ¥ W )

Complete the Square

¥ —22x+ \\')\\‘ =( X - H y This is called Qgﬁﬁﬁg_’\q\& Dee Ny
Take \ 2. ofthe Quigﬁ e Lnlt-of the x-term and %Q\ it.

{owodien
Examples — Complete the square and factor. ')\15 2 o
Fo6x+ A =(x2) 2 Fatser G =(xr2) 2 b T =(X42)
~ N | ] § 2 =3 Yot s . z 1 25
_\l i"""i@é = gm%ééi % '\‘ i-\gx :él% ‘}é:_ 3&.&% \ @D‘? ‘égi};e} = E
) -~ ) ‘ 2 D g_% g \ D LE



Solve by completing the square.

Solve by completing the square:

x*+6x-16=0 x +10x-24=0 2x" =—6x+7 L Movethzcm%%¥
2 to the O V¥reside.
X&bx  =\o K 20K =N AT L% = ] e
' -2 ~ 2. Divide by the Qoe_g—i\‘i;iv\}‘?
7 b+9 KENOx VLD = 2M¥ID of X 2
[ XHox )= | S y . X2
7~ (x*x2) 2249 X“+3dx = = 3. Conmgle o the Sguort.
( X i'%\] - @é‘% o and ggd . to other side.
. ) e A
NS s (- = TN (X = on + _{i)i N | 4 Tockr adsovety
> X-‘\-cs_ b e; Li taking the %?\,&\‘\(’Q? Qs@;'
o= - - , fboth sides. Don’t forget & .
X5 <>\_\- %>Q _ M %‘% of both sides. Don’t forget X .
e _ 5"’% ,
X="2¥D=2AL | X= 1
(= =3-5:-%  X=~9+7:=2
2%l x=-51--1
Connection to parabolas.... | - 7 __
= - i) VL
Graph y=(x—3)2 — 5 State the transformations Tromthe parent graph y = x°. L‘?
}g ei@}i i‘bé - __? g; N\l/ 5
X2= lox ¥\ a
The fsoﬁrm y= (x 3) —5 is called the jef form of a parabola ‘\ f!

because you can easily identify the 3[ K%;}S

How do you get a quadratic function in vertex form? ﬂﬁﬁ? 2 % 32 L2450 %..

Example: y=x"-12x+4

y_jL'\_.zxz—IZx
y—4+ 3 = —12x+ D)
y+ﬁ=(x—lﬂz
y= %=\ -3

Vertex: ; gé 3”5%2'&\}

) S W Y
s R A R |

Vertex Form

A quadratic function, y =ax’ +bx+c with a =0,
can be written in vertex form by Gl baa

= %fgi
y= %X“% %ﬁ% vertex(ﬁ,xgi’)

Write the function in vertex form by completing the square. Give the coordinates of the vertex.

y=x" +4x+5

= X &My
= ¥ My +Y

’J\@ = {;XEWE»?‘

Yy = (v ) )
(=21

PRRS

%u‘ié—‘-i
)

3

y=2x"+16x+13 (careful!)
—%73 = Ax®r Yox
Y- 2 L?Z* DY \}
Y2+ 2 V(< Bx +\L)
+ 194 = 2( x -%-"?'\ Z

g = 2 (x+1) 9

‘ﬁ

v: "Lh"\q



Putting it all together... Given the function f (x) =x"-2x-3
a) Opens IN @] andhasa Yo s oo TS

b) y-intercept: (D ) )
c) Zeros (set =D d) Vertex: (\ ,'\-\ )
O = )(l—lx—g e s - -
0 = (x-) x>\
x-3=po x¥\=0
X=2  x=-\
e) Axis of symmetry: X - \ f) State transformations.

@\‘i\}\\}\’ \ N BQ‘&Q?\\‘\

\ecex
Menad, *\ MNeWod. * 2L

x&ﬂ‘ig % - X ‘Z}”E
ng y IS
W a2z XT-Lx
X = “{“‘2\\ \‘3 ' - \
\ = R T
200 o .
3 w-\Ye

= V=200 -3
w2 \ =23
N
\)if‘%a {Xf“&\\

:;:@ﬁ\,.ii
1

Sketch. Label key points and axis.
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If ax’ +bx+c=0and a #0, then

Quadratic Formula

~ -brJbp?-Mec

"3 o
2. 2
Follow the same steps to “complete the square.” \ \3 _ ( \D ) 1?_
_ = VAL 2
ax* +bx+c=0 2 o. \2a 4
2 E
Ox -a—\bx - "C_ ﬁ
X * b X ¥ \O = -C \O \
ba & - O * e
> Ha o Yo %

K+ O ‘J o
Use the quadratic formula to solve. Give exact solutions.
3x> =4x+6 A= > Your school’s jazz band is selling CDs as a fundraiser. The total profit Y depends on the
o - -4 amount X that your band charges for each CD. The equation :
%’5 “-Nx= =0 Q:”i@ y=—x"+48x-300
models the profit of the fundraiser. What is the least amount in dollars you can charge for
-~ ( "‘!\ p \3 (‘L\!\ L= Y i?ﬁ‘s é" b a CD to make a profit of $200?
25@5‘ ' 0O = =% %»—ér %~ 200
RS
TN <o = O
=4 2 Jig Ty KA D% _
/ — X= BT J U3 HN (S0
(V)
- &'
S urJ33 x=al @\T;;\ 20
\Z Y1 J4%22 Xx= 22 \3 \i RN
G R X= 0. m Jx \5.2 )
X = L\» i }@3 - X\Q\.«,}.@ S NS

é {AtN

S2% | 5{6&%3&'

¢ o Choacoe S %



Find the zeros/x-intercepts/roots by setting y = 0 and using the Quadratic Formula.

1. y=x"+12x+35 2. y=x"—6x+9 3. y=x"+4x+9
O= XZ‘\‘"{\‘L?Q v2 S D= )(Z—{,px%-% O:;iz%‘%xé—g\
K= <D B ‘\3?)59‘%{\\&(&5\ X = —LE";‘ %3@@ BN
EIGN

x= T\ 220 X=-

o X
X\f%?aa
Az o - -y
2 -

o) e

92 l i X = %i } gg};}g E} U\;G Real \\

FAY
" # 0of real roots: oi # of real roots: \ # of real roots: O

# of x-intercepts: g # of x-intercepts: i # of x-intercepts: O

The expression under the radical, 5> — 4ac is called the IISco! pen SNOE ‘:}?"

*Discriminant = L% *Discriminant = O

-y
*Discriminant = { D

. 2
In the quadratic equation ax” + bx +c = 0 , the Discriminant = \D - ‘Q& a ¢
e If b®~4ac > {D , then the equation has 2 distinct real solutions. There are Q x-intercepts.

. . Ly . .
o If b>—4ac = O , then the equation has ‘; real solution, a_ 3oLV, root. There is x-intercept.

o If b*—4dac 4;} , then the equation has O real solutions. There are EE‘ [} x-intercepts.

‘%NQ%S :_,_.-i é@‘?%é? éé et o Sy f%'xgia“‘*‘? 5 O ?;%Tg@_@n}ﬁ wg %;Eé’“ﬁ%
A Q%\A@\\»\ s~ D Yoo darel\e_ .

Find the discriminant and determine theiumber of rea/ solutlons without solving the equation.

1. 3x>—6x+4=0 2. 3x" =6x-3 3. 3x° =2x+7 =4x+5

0 Nee Dx%-lx+>=0 33l +2=0
G 1) 2= O W2 Yoe N
2 25077
2~ 1D (-4 () (3) (- -
0 ; " b A IS , 5

-\ B~ Db

t. \ \ ) v ;3% \
) | Teod Dolodinew | |
) Aowne. ¢
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To solve negatives under a square root, “\& Nats numbers were developed, where = X -\ or i’=" ‘
o YS’—A — -

Simplify: -9 = N NN REYETAYEN N =T

o EL = x\-\ X S 2 ! C_Of‘\\ii\i‘ér Ao Aohaa \mmi\z

Complex Number *\\\}mmﬁg oe :-bﬁl
Form: OO L o X §\~§‘\<\%

NEVE RSN
. . zs
%‘i: " \-\ T = \:-;E w =

where a and b are (\acx\ numbers.

i=N-"1% or i2=_"i.

a isthe LQeo\  part; b isthe &N\g\%\@&fgé part.

Powers of i: 3! - {\ :\' =
PR o .
[ ' P=ite =1
Ry LZ _ -\ Conclusion:
— . The powers of i are C‘gﬁ“" and
il = f‘ . {,3= ~L fi@%éﬁ mapattern offournumbers
. -y o, = , , and .
l-8= Li'i L“-\ _ % \\ L an \!
.14_’, ) L 35 _ - _ o, < \
Ex: i Ll oL Tr.z/i--'u: Loz = iigﬁihl 25‘;‘3
=y-4- 1 “g s ; Y \ %G LY D re~eS %EE i \_\ﬁ‘c\g‘o
Efg_%;@;&@ i -.:i!ss
3% A 17
Operatlons with Complex Numbers Y ljb = ig lo ’R’O
. (-10- 6z)+(8 4i) 2. (—10—§i)—(8—4i) 3 (2 6i)(3— 41) o 4. (6—4i)5+20) \
) ,?- e\ox*—% -4 \"‘ag%ig%ﬂ%?ﬁ%i 4‘3%; %“‘ﬁ‘%' Z B0 -0 =Y
— oAl Bo=BL —%()
-2 -\ ' s Ol + A% O=RL =N
5ol el bobira) Boesiowe
; " 3 f;;,.;@ga@ 50 =L+ %
5. (5- 3i)(5+3i) - 6. 3+4i)(3-40) "\l i .
ADNSLAS - N TR o PP U T bl j 2% %; };
;é%"“@%sg = éfé [ = ;%‘%3 O —lWolt = C‘%*‘%@‘ga‘%{i
The Q{\;{\\‘}\J@ o€ of a+biis 0-ov. (a+b1)(a—bz)=

Dividing Complex Numbers: Multiply the \u\w\iﬁ&»xﬁ;?& and the_ Q2 s son o g\é@{*‘ by the
\;\{% L % o %, ofthe &im%ﬁ;%» 3. . We do this because
L_ \S \ and xg aren’t simplified if in the denominator.

2451 D axU g 374 S-2W
B ¥ 2*%&: Y %@;;
C .2
i ! 2 "i/sﬁ =20 %"‘QL‘
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Now, we can solve problems that have no real solutions!

Solve using the quadratic formula over the complex numbers:

) X —4x+5=0 — 2y dx?=2x-1 tx=Ax ¥\ =0
x= 4 E Jou(S)  X= T EIene x= 2% TG
20N =y
X= 4 1-20 =
. XK= A
-
X = YETJ-y

7

Extensions: m%

- - .
Graph a complex number. A= g\ -y T
. @&& . ( —"g %\} -
Label the x-axis the axis and é A 4
the y-axis the ;ﬁ\&;§,\(\®€x§/‘ axis.
< @am\

To graph —1+ 37, plot the point (’\ ,r%) ) .

/Tﬁi 7

C:}:i:&& Qt?; EW@N&:\Q

N
The absolute value or Moy <y of a complex number is the OISR from the (T~ % N

Graph and find the absolute value (modulus)

L [2+3 o= J(a-oyes (20N 2 |34 ’

A . d\t"l " ~3
1 o (A2 A= N %

< 1 i !
i J ”~

(0,03

v

Absolute Value (or Modulus) of a Complex Number
|la+bi|= Jaz Ve

Graphically, Ia + bil ] represents the & N %;&6{% from the

{Z{;%:g:’: .

{g@“;



Date Notes 4.9:

Nuodse )

To solve a one-variable quadratic inequality by region testing:

e . . ;
2. Graph the =T f‘%«»; £a_% #son anumber line (use ﬁi;éix

1. E Q}g@f‘ and find the ‘_¢. Yiea ' #s. 3 Te

S R W
or gﬁéﬁ’é

circles)

e £y . .
3. 1 &%= anumber from each region into the ¢ L f

4. Decide if you want the

ineguality to determine

solutions.

%‘ 25 or oy for each factor.

Problems — Solve by region testing.

x2-8x+12>0
/;;

C 3@%5;&

/é
g

X200 %

L e

t 5;*,&52

TeaM x= B+ AD-HO +A 2D EAEEASR
e ’ £ 5 | k % 5
e x= T 4= 20 Dz Vv

3

\

E

Solution: { % i % <

C.Y\gig&ﬁ %}&Ei&i%
5x%-x-2 =0
1 ~ £ Y
é%"é#%{ﬁ%wi =0

Dy%s2 =0 X-\=D

\ &5 g
-2 X X252 x=|
i3 .

Tesy x= -\ 3(N"¢-4%2 3243 N0
Tesx X203Vt Loy OL Yey
Tﬁ%g}srolutz‘:;;\ : ﬁé:éxzé MR LR N

28 ‘zggiéagg}

Closed

x2 <—6x

®

2é
AR Y 37
* éaﬁ% s = m%ésﬂ?
3 A
Q?xz‘e{:‘;’a&}“iﬁi S

X Zalox 2T
X (x+lo) =D

Teady x=-" ¢
Tes x=-4\ /£

Tes+ A=14 °

\
\ Solution: { % % ~L4x4D }j

ope
AN WY 3 -
W +4x>—4 Cedicad N adaes
X*+4x 232D

a/}\ v
W
Teak X% o (HTa0v-yq =R Y
)/\63

TTea» x= O - 5% (o) 7= o>-Yy

\ Soluﬁon: { X\‘ X<-2 ch}’z}‘\
\ \




Two Variable Quadratic Inequalities N L
Sketch the graph of y > x* —4x—5. SQ\% a\ LanNe

1. Graph W = %=~ y-~2 by finding the
A ; y

y-intercept:

)
N
2. Drawa %;3@ curve.

< :;l%f’: e+ B> x
(-V.oMT /(50!
3

T 1

Fem N O
3. Test { 3;3 to shade inside or outside the parabola. \I (',}s P

D 2o -5 4 i=Yo .

Q 2 - % ;‘%f;% o %%ﬁ&’g

2. Sketch the graph of y > —(x—1)* +4. /
Graph i:g}':- - (%= 5T +H

Vertex: (| ,%)

y-intercept: set A = O
35’ ‘iﬁagég‘*‘ﬁ\x}‘*’% ] )
Vot %&i\—r é’: ; 4 \
’;w?i %ﬁg i :
3— - X% 3 };4 *?“ (o) V !
\ﬁ = Zeros: set }L D I
D }(Eészgf %Q‘ Test(3, D)
- T/ ~
D5 -(0-N+5
07 ¥4

T

M~y 5o
O =(x-3Yxa  O7 = NP
X =%,~\

Summarize how to graph a quadratic inequality
involving two variables.

1. Graph the parabola usmg } %‘f ng
ZemS,mdy - P g‘%%%

W R ‘%g% @& curve




